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1. The equation of the line passing throughthe origin andhaving a slopem=0 is

(i) y=mx+c (ii) x=0 (iii) x=my+c (iv) y=0 (v) y=mx

2. The equation of the line passing through the points(1,(=7))and((=1),(—=1))is
(i) (=x—2y—13)=0 (ii) (5x+2y+1)=0 (iii)) (6x+2y+8)=0 (iv) (-7x—4y—11)=0

3. The equation of x-axis is

(i) x=0 (i) x=1 (iii) y=x (iv) y=1 (v) y=0

4. The equation of y-axis is

(i) x=1 (ii) y=x (iii)) y=1 (iv) x=0 (v) y=0

5. Any line parallel to x-axis is

(i) acurved line (ii) an oblique line (iii) a horizontal line (iv) a vertical line

6. Any line parallel to y-axis is

(i) an oblique line (ii) a curved line (iii) a vertical line (iv) a horizontal line

7. Aline which is neither parallel to x-axis nor y-axis is

(i) an oblique line (ii) a vertical line (iii) a curved line (iv) a horizontal line

8. Which of the following are true?

a) Equation of the line passing through originisy = mx +1
b) Equation of the line passing through origin is y=mx+c¢
c) Equation of the line passing through origin is y = x

d) Equation of the line passing through origin is y=mx

(i) {a,c} (ii) {a,d,c} (i) {ab,c} (iv) {b,d} (v) {c,d}

9. Equation of a straight line which is parallel to x-axis (where k is a constant) is

(i) y=0{(i) x=o0 (i) x=y(iv) x=k () y=k

10. Equation of a straight line which is parallel to y-axis (where k is a constant) is

(i) x=0{(i) y=0(iii) x=k(iv) y=k(v) x=y

11. Write the given equation(10x+11y+116)=0in y=mx+cform

() y=(=2ox=22 (i) y=(=1ox=220) (i) =X ) y=(-2x= 2RO
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12. Write the given equation y=(5x+1) in ax+ by+c= 0form
. 2 N 2 2 _ 2
(i) (—5X+y—1)=0 (ii) (—3X+y—1)=0 (iii) (—7X+y—l)=0 (iv) (—5X—2y—1)=0
2
(v) (—5X+4y—l)=0

13. Find the equation of the line passing through the points(8,(=5))and((—-2),2)

A
8
7
6
5
4
E
2
1]
5 8 7 % 5 4 5 5 10 2 3 4 5 6 8 9
1
2
=
4
5
6 =Y
7
8
9
Y

(i) (7x+10y—6)=0 (i) (8x+10y—6)=0 (iii)) (6x+10y—6)=0 (iv) (7x+10y—16)=0

(v) (7x+10y—-13)=0

The points B(1,(—2))and D((—7),0) are the opposite vertices

14.
of a square ABCD. Find the equation of the diagonal AC

(i) (2x+8y+14)=0 (ii) (8x+22)=0 (iii) (7x=2y+22)=0 (iv) (2x+6y+14)=0 (v) (8x—2y+22)=0

15. Which of the following lines pass through the origin?
(i) (13x+y—83)=0 (ii) (=12y—96)=0 (iii) (=x+12y—=54)=0 (iv) (5x=6y)=0 (v) (=12x—y—68)=0

16. Which of the following lines do not pass through the origin?
(i) (=3x—=4y)=0 (i) (=4x+7y)=0 (iii)) (x+12y+55)=0 (iv) (6x+7y)=0 (v) (5x=5y)=0



17. Which of the displayed lines represent the equation(3x—3y+9)=07?
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(i) line with pointU (ii) line with pointR (iii) line with pointS (iv) line with pointQ (v) line with pointT
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18. Which of the displayed lines represent the equation y=4x
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(i) line with pointP (ii) line with pointQ (iii) line with pointO (iv) line with pointS (v) line with pointR
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19. Which of the displayed lines represent the equation y=(—3x)
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(i) line with pointP (ii) line with pointR (iii) line with pointS (iv) line with pointT (v) line with pointQ
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1) (v) 2) (iii) 3) (v) 4) (iv) 5) (iii) 6) (iii)
7) (i) 8) (v) 9) (v) 10) (iii) 11) (iii) 12) (i)
13) (i) 14) (v) 15) (iv) 16) (iii) 17) (iv) 18) (iii)
19) (i)
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